C:h |dentifying Rate of Change (S.1.F.)

| dentify the rate of change for each equation.
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ﬂh |dentifying Rate of Change (S.1.F.)

Name. Answer Key
I dentify the rate of change for each equation. Answers
1) -2 2
y= /6x +6 1 | 7 6l
2 6
) y= 6/.10X +9 2 1/ 1
2
3
) y:2/10X'9 3 |/1o|
8
4) 8
y:/_]_OX_B 4. |/-10|
-1
5) -1 /
y = /-8X +6 5. | 8|
/.
6) 9 6. /10l
y=710x+0
4
7) 7. |7l
y = /_9X + 10
8 y=-1x-8 8 -4l
5
9) 5 9. |/6|
y= /6x -4 2
|74l
10) 2 10. 6
y= /6x -1 7
a4
11) 7
y=7/gx+6 V4
w174l
12) -2
y= 7ax+7
3 13, -S|
w4
14) 7
y= /_3X + 8 5 |_3|
15) y=-3x+1 -9
16. | /-8|
16) -9 3
y= /gx-8 17, |/5|
17) 3
y= /5x +5 18, 8]
18) y =
y=8x+r 0 |8
1) y=-8x+7
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C:h |dentifying Rate of Change (S.1.F.)

| dentify the rate of change for each equation.
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y= 7q0x-2
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3 y=-2x+5
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ﬂh Identifying Rate of Change (S.I.F.) Name. Answer Key

I dentify the rate of change for each equation. Answers
1) 1 L
y= 7q0x-2 1 | /-1o|
2 2
) y= 2/.10X -8 2 |/-10|
3) y= 2x+5 3 |_2|
-8
4) -8
y = /6X + 3 4 | /6|
1
5) 1 /
y= /8X + 10 > | 8|
6) y=3x+4 6. £l
74
7) -6 7 8
y = /8X - 10 |1 |
8) 1 8 2
y = /2X = 10 -4
/
9 4 9, | -1o|
y= /40x+10 1
10 |/—10|
10) 1 '
y="710x-8 .
1) Y= Bx+8 11. |‘2 |
o o 174
-2
y= /X +9
" 4 13 |-2)
y=-2x+0 9
14, |/2|
14)
y= /2X +5 5 |-10|
19 y=-10x +3 2
16. |/10|
16) 2 9
y="7jox+1 17. |/8|
17) 9 -10
y = /8)( -1 18. | /-8|
18) -10
= /_8x + 10 19. 7]
1) y=7x+1
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|dentifying Rate of Change (S.1.F.)
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|dentifying Rate of Change (S.I.F.) Name. Answer Key
| dentify the rate of change for each equation. Answers
1) yv=4x-
y=4x-9 . 14
2) -3 |?7 |
y= /x+6 2. 7
-6
3 -
) y = 6/_9)(+1 3. |/-9|
4) y=2x-3 4, |2|
-6
5) -6 /
= a . 17
7
6) 2 6. | -4|
y= /_4X + 06 4
7) 4 7. |/-9|
y=/. oX -3 5
8) 6 8. |/ 10l
y= /1OX +4 3
o 174
9) 3
y=7.ex-6 9
10) w174
-9
y= /gx+9 6/
w74l
11) 6
y=/gx+2
12 |1]
12) y=1x-9 4
13 13. | 3|
-4
= /ox-4 1
Y= /3 w1/
14) 1 4
y= /-4X +7 15. |/7|
15) 4 -3
y—/_7X-10 16. |/_8|
16) -3 -4
y= /-8X -7 17. | 9|
17) -4 5
y= /gx-6 18, |/.1o|
18) 5 -1
y:/_10x+5 19, |/7|
19) -1
y= /7x +1
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C:h |dentifying Rate of Change (S.1.F.)

| dentify the rate of change for each equation.
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|dentifying Rate of Change (S.I.F.) Name. Answer Key
| dentify the rate of change for each equation. ANnswers
1) -2 -2
y= /6x +3 1. | / 6l
2 = .3 -
) y=-3x-8 N -3|
4
3
) y:4/8x+8 3. |/8|
-5
4) -5
y= /ox+10 4 72
-2
5) -2 /
6) y=1x-6 6 |1]
) y=6x-4 7. 6]
1
8) 1 8. /3]
y= /3x -4 |_6 |
9) -6 9. 4
y = /4X -7 |4 |
10) 4 10. 8
y= /8x -6 |-4 |
11. 7
11) -4
y= /7x+3
12 2]
12) y= 2x - 1 5
/,
13 13. |74l
5
=/ X+ 7 4
Y= /8 w174l
14) 4
y=/axrd s I3
15) y=3x-1 5
16. |/7|
16) 5 3
y=77%+0 17. |/.4|
17) 3 3
y =7/ gx+2 18, 174
18) 3 2
y = /6X+7 19. |/—6|
19) 2
y="7¢x-3
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|dentifying Rate of Change (S.1.F.) Name:
| dentify the rate of change for each equation. Answers
1) -5
y = /. 10X +10 1
2) -9
y= /. sX+4 2
3) -10
y= /_9)( +7 3.
9 y=1x+8 4.
5) -7
y= /gx+6 §
6) y=-9%+0 6.
7) -9 .
y= /. x-1 !
8) -5 8.
y= /7x +2
9) 6 9.
y= /8x +8
10) 5 10.
y=/5x+3
11) 4 11.
y= /gx-3
12.
12) -3
y= /jox-4
13) 10 °
y= /6x -2
14.
14 y=2x+7
15.
15 y=-2x-1
16.
16) y=1x-8
17.
17) 5
y=7/7x+3 18,
18) -3
y= /_2X -6 19.
19) -3
y= /9x -5
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[ Math ] www.CommonCoreSheets.com 5 11-19142|37132|26(21]16]11| 5| O




.

|dentifying Rate of Change (S.I.F.) Name. Answer Key
| dentify the rate of change for each equation. Answers
1) -5 -5
y= /10x+10 L [/
2 - -9
) y:9/_5x+4 2, |/5|
-10
3) -10
y= /_9)( +7 3. | /—9|
4) y=1x+8 4 |1|
-7
5) -7 /
J=T s s 174
6) y=-9%+0 6. |_9|
-9
7) 9/ 7. | /7|
y= /-1 |-5 |
8) -5 8. 7
y= /7x +2 |6 |
9) 6 9. 8
y=7/gx+8 |5 |
10) 5 10. 3
y=/5x+3 -4/
u |74
11) -4
y= /gx-3 3
12) 12, | 10|
-3
=/ . x-4 10
)T s 17
13) 10
="/X-2
Y= 7% w2
14 y=2x+7
15, -2|
15 y=-2x-1
16. 11
16) y=1x-8 5
d a7
17) 5 -3
y=7/7x+3 18, | 7.,]
18) -3 -3
y= /-ZX -6 19, | /4l
19) -3
y= /gx-5
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C:h |dentifying Rate of Change (S.1.F.)

Name:

I dentify the rate of change for each equation. Answers
) y= _10/_3X -5 1
? y="7y0x-8 2
3) y= -1/_7X +8 3
K y="7ax+7 *
5) y= _3/5x -8 >
6) y= -10/_4X +3 6.
g y= _8/10x +4 !
8) - 6/_5)( 1 8
) y= _7/6x -6 )

10) y:_9/4x_2 10.

11) - 8/-3)( . 11

12.

12) - 5/_2)( -

13.

) y= _2/3x +2

14,

) y= 477x -1 5

) y= -3/5x - 10 .

K y= -8/5X +2 17.

) y= 10/_8X +2 18.

) y= _2/5x +2 19.

19) y= 8/_5)( 6
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|dentifying Rate of Change (S.I.F.) Name. Answer Key
| dentify the rate of change for each equation. ANnswers
1) -10 -10
y= /3x-5 1 | /-3|
2) 6 6
y:/10X'8 2, |/1o|
-1
3 -
) y = ]/_7)( +8 3. | /—7|
-5
4) 5
-3
5) -3 /
y= /5X -8 5 _|10 5|
6) -10 6. | /-4|
y= "/x+3 o
7) -8 7. | /10|
y= /iox+4 :
8) 6/ 8. |/5|
y = _5X +1 _7/
9) _7/ 9. | 6|
y= /gx-6 _9/
10) 9/ 10. | 4|
y= /4x-2 |8/ |
11) 8/ 11. -3
V=l 7
12) c 12. -2
y= /_ X -5 -2
13 2 13. | / 3|
-2
= /X +2 4
y 3 14. |/7|
14) 4 -3
y=/x-1 15, |/5|
15) -3 _
y="Yex- 10 VA
16) -8 10
y= /ox+2 17. |/
17) 10 -2
y="/gx+2 18, | 74
18) -2 8
y= /5x+2 19. |/5|
19) 8
y=/cx-6
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C:h |dentifying Rate of Change (S.1.F.)

| dentify the rate of change for each equation.
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ﬂh Identifying Rate of Change (S.I.F.) Name. Answer Key

I dentify the rate of change for each equation. Answers
1) y=2x-
Yy 2X -4 1 |2|
2 i -6
) y= 6/.10X-9 2 | /4l
3
3) 3
y = /_7)( -1 3 |/7|
-8
4) -8
y= /ex-2 4 |74
-9
5 /.
y= 9/-7X -7 i =i
-4
6) 4 | |
y= /10X +9 6 - 10
7) 7 7 | 8|
y= /8X +3 |_3 |
8) - 8. 6
9 10 o S
y= /6x +9 1
/4|
10) 1 10. 9
y=/ox+3 |9 |
1) 9 11. 4
y= /4X -6
12 -2]
12) y=-2x+4 -1
13 13, | /3|
-1
=/ x+6 !
y -3 14. | 5|
14) 7
y=/ex-1 15, I-1]
15) y=-1x+8 -8
16. | /3|
16) -8 4
y= /-SX -1 17. |/3|
17) 4 -3
y=/.gx-4 s |7
18) ] 2
y= 3/9X -10 19. 74|
19) 2
y="7gx-5
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|dentifying Rate of Change (S.1.F.) Name:
| dentify the rate of change for each equation. Answers
1) 6
y= /7x +4 1.
2 = Oy -
) y=9x-3 N
3 _
) y=-4x-9 N
4) -1
y = /7X +0 4.
5) -5
y= /gx+10 >
6) y=-2x-5 6.
7) -9 7.
y= /. X+ 7
8) -2 8.
y= /. 2X -4
9) 3 9.
y= /6x +2
100 y=2x-8 10.
11.
11) -3
y= /x-8
12) 0 12.
y= /8x +5
13.
13) y=-1x+0
14.
14) 5
y= /'3X *+8 15.
15) 9
y = /6x -4 .
16) y=-5x+7
17.
1) y=-2x-4
18.
18) -6
y= /, 4X -5 19.
19) y=-1x-5
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|dentifying Rate of Change (S.I.F.) Name. Answer Key
| dentify the rate of change for each equation. ANnswers
1) 6 6
y= /7x +4 1. |/ 7
2 = Ox -
) y=9x-3 2 19|
3 y=-4x-9 N -4
-1
4) -1
y= /7x +0 4. | 7|
5
5) -5 /
y= /gx+10 > |7l
6 y=-2x-5 o |2
-9
7) -9 7. | /-5|
y= /gx+7 -2
85 . 174
y= /_4x -4 3
174l
9) 3 9. 6
y= /6x +2
10) y=2x-8 10, 12|
-3
a7
11) -3
y= /x-8 10
o o 178
10
y= /8x +5
3 13, -1
y=-1x+0 5
w174
14) -5 9
y=7qx+8 15, |76l
15) 9
y=7ex-4 16. -S|
16) y=-5x+7
17. -2|
17) =2x-4 -6
y s |74
18) -6
y= /-5 10. -1
19) y=-1x-5
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C:h |dentifying Rate of Change (S.1.F.)

| dentify the rate of change for each equation.
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5 y=8x-3
6)
7)
8)
9)
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y

2
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15 -
) y= 6/10x+3

16)
y= 4/6x +1

17) -2
y= /_6x-2

18) y=3x+0

19) 3
y="7x-3
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ﬂh |dentifying Rate of Change (S.1.F.)

Name. Answer Key
I dentify the rate of change for each equation. Answers
1) -2 2
y = /_4X +5 1. | /-4|
2) 9
y= 9/.2X +6 2 |/2|
) y=-Tx+6 3 |-7]
-2
4) -2
y= /_9X -4 4. | /'9|
5 y=8x-3 5. 18]
-9
0 - |74l
y=Yx+5 6. 8
/
7) 8 7. | -6|
y = /-6X +7 4
8) -4 8. | /—8|
= /gx-T |-8 |
9) -8 9. 3
y= /3x+0 .10
10 | /3|
10) -10 '
y= /x+3 6
w4
11) 6
y= /8x +1 4/
o |74
y= /3x -4
3 13, -1
y=-1x-7 2
w7
y_/6x_8 15. |/10|
15) -6 4
y= /1OX+3 16. |/6|
16) 4 -2
y=/gx+1 v 174
17) -2
y= /gx-2 18, 13|
18) y = 3
Yy 3x+0 10. |/2|
19) 3
y = /2X -3
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|dentifying Rate of Change (S.1.F.)

| dentify the rate of change for each equation.

1 ]
) y= 5/_6x-5

2 y=4x+6

3) 7
y =/ gx+2

49 y=-3x-4

5 -
: y= 1/2x-3

6)

3
y:/7x+6

7)
y:5/_3x+1

8
) y:6/9x+10

9) 7
y=/10%- 2

100 y=-6x-10
1) y=1x-3

12) 9
y= /5x+8

13 y=8x-7

14) -4
y= /_8x-3

15 y=-2x-1
16) y=3x-2

17) -10
y= 4¢+9

18) y=-3x+8

19) ]
y= 10/8x -7

10.

11.

12.

13.

14.

15.

16.

17.

18.
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ﬂh Identifying Rate of Change (S.I.F.) Name. Answer Key

I dentify the rate of change for each equation. Answers
1) -5 -5
y= /ex-5 1 | /-6|
2 —
) y=4x+6 ) 14
.
3
) y:7/_4X+2 3. |/4|
49 y=-3x-4 . -3]
-1
5) -1 /
y = /-ZX _3 5. | 2|
) 74
6 3 i
y=x+6 6. 7
4
7) 5 7. | -3|
y=7gx+1
/.
8) 6/ 8. | 9|
y=/gx+10 7/
9) 7 9. | lOl
y=/1px-2
10) y = _gx - 10 10, -6
11) y = 1x -3 H |91|
. o I
9
y:/x+8
" > 1w |8
y=8x-7 -4
w174
14) -4
y= /'8X -3 15, -2|
15 y=-2x-1
16, £l
16) y=3x-2 -10
Y 17. | /8|
17) -10
y= /8X +9 18. |‘3|
18) y—. -10
Yy 3x+8 10. | /8|
19) _
y = 10/8X -7
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